Su?bﬁ| Ful
Number Solution & Marking Scheme Marks M:r},(s
11 @) | 2m=-1=3 o equivalent | Kl
m=2 N1
®) | g(2x—1)=4x+3 Pl
_y+1 |
g(y)= 4(_2—) +3 or equivalent K1
g(x) =2x+5 N
2| ( :
4
a) 34-m _ 3_ or 3P =i K1
3’" 3m
1 s
7 (3'-3")=6 K1
M2 N1
() | 210g, (x—y)=log, (x—y)2 or 4=log, 24-:; S K1
2 5
log, (x=y) or log,2*(y) K1
x
(x— y)2 =16xy K1
, ) N1
x"—y  =18xy
7
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N
umber Solution & Marking Scheme Marks 11:2:
_‘—__—,———-“
. _ I
3((@) |6 SIn X oS x = 3sin2x OR  cos’ x—sin® x =c0S 2x K
3sin2x NI
=3tan2x
cos2x
(b) | (1) , ;
YA i !
0 : ¥
1] ; i
3] | i
Shape of tanx gr'aph 4 Pl
Amplitud and cycle . P1
_’___;_’_——//'—’
®) | (D) y=3’ﬁ—1 N1
” - K1
Plot straight line ¥ = 27} -1
No of solution 2 b
7
4| 4yt =25 N1
5x+2y+50=133 Nl
_ 83-2y 83 -5x
X=—"% | , y ) Pl
2 2
x2+(g3_5x) _ s (83—2y) £y =25 K1
2 5
(5=7)(29%-627) =0 (y=24)(297+364)=0 Kl
x=7, 3 y=24 N1
| 588 cm N1
-
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Sub | Full
Number Solution & Marking Scheme Maurks Maurks
S| @ 6_315+8+6+x+8+10+y+3+5 Kl
10
X+y=12 N
(b) 2 =3 451816218 410°+3° 45+ x+ OR -
2(x=%)" =(3-6) +(5-6) +(8-6) +(10-6)* +(5-6)' +(3-6)' +(x~6)' +(12-x—6)’
2 2 2 2 2 2
345 +8 46" +87+10° +32+ 52 + x> + (12— x) =62 OR K]
10
(3-6)" +(5—6)" +(8-6)' +(10-6)" +(5-6)} +(3-6)* +(x—6)* +(12—x~6)’ 6
10 e
(x-9)(x-3)=0 !
x=9 x=3 or y=3 y=9 N1
Saripah is the winner NI
7
6| |G) | 13-8j+2i Kl
K1
J15% +(=8)°
17 N1
Gi) | 115
17\ -8 N
CICREEL .
| 2 _x. <
2:5 15
x=12m N
2 R
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PENTAKSIRAN DIAGNOSTIK AKADEMIK SBP 2018
PERCUBAAN SIJIL PELAJARAN MALAYSIA

@3 R o b Full
S e e T S Solution & Marking Scheme l\ds:rks Marks
71 (a D il S Y :
® Use sinéAoBzé K1
5
0.6436 rad N1
®) | £BPC=2215 1ad o AC=2 K1
NAB=8(0.6436) or NBC=3(2215) | K1
8(0.6436) +3(2.215)+ 4 K
15.79 em
(C) 1 2 1 2
Aois =5(8) (0.6436) or Ay =§(3) (2.215) | K1
1 %
Aore =5 (4 K1
1., 1, 1 Kl
- 3 —— 215)-=(4)@3 PN
S ®O88O-5 07U N
3 ..
4.63 cm 10
8 | Refer graph 8 o
=7 K1
9@ | (x=2+(-7=T ey N1
*+y —4x—14y+52=0 - ..
a Pl
—1 9~
(®) Mid point AC=[—,;—';)‘ '
22 K1
_ooo24x -1 64y 9
Mid PomtBDf.f_ 2 o 575
L3 NI
K1
@] La)6)+ (2D +@B)+ DD~ (AD-@)XE -0 -3)0)
; 125 N1
@], 722 (x-2)
” 2-(=3) N1
y=x+5
Test point (4, 8)
4+5=9#8 .
(4, 8) is not on the straight line AC N1 10
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‘ . ‘ Sub | Full \
Nembes Solution & Marking Scheme M:rks Marks
10 (@) | m=1 N1
(b) 452 K1
y= T+C
y=2x* NI
© |
I2x2dx=[£} K1
0 3
3 0
2(1)
——- K1
: 0
2 N1
3
(d) l 57
7[J-4x4dx-_—[4i} K1
o > 1o
1;z(z)z(l) OR n[———4(1) —0} - Kl
3 5 N
( Y (1)-7 [ﬂ_o} K1
i T N1
15 k
"y 10
11| (a) | (i) n(0-2)=500 K1 |
~n= 2500 Ni
(ll) IOC4(O . 2)4 (0.8)6 Kl
.| 0-08808 NI
® @ | P(x>3D)=P(z>1-375) K1
‘ = 0-0845 N1
i 20 K1
(1) P(z>m )=0-78
z=—0.772 Pl
—0'772—"1;20 K1
m =13.824 kg N1
10
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["Numbér B j':1;.‘:'<"‘ i
d —6f — :
a,=6t-15 X1
v, =3(2.5)" -15(2.5) Kl
__1 .
8.75 .
(b) | Use -2 +12¢ <0 Kl
t>6 NI
(© | a,=a, >6t-15=—4t+12 K1
t=2.7 NI
K1
SA=t3—'1_5't2 or S,,=—zt3+6t2
i 3 K1
_(27) - @7) +|-2(27) +6(27)
2 3 N1
65.61 m
13| (a) | (D) sin ZPOR _ sin40 Kl
15.1 11.7
/POR =56.06" NI
G) | 15.1° = 1032 +8.52 —2(10.3)(8.5)cos £PSK ﬁi
/PSR =106.48
(i) —;—(10.3)(8.5)si_n106.48° K1
1 . o K1
-2—(11.7)(15.1)sm83.94
| —;-'(10.3)(8.5)sin106.48°+%(11.7)(15.1)sin83.94° K1
R 129.82 NI
(b)_ (1) -‘_,,.-':'Q
R ;
IQ'
ZP'Q'R' obtuse angle N1
P!
i) | 123.94°
(i1) .
I
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Number

Solution & Marking Scheme

14

Refer graph 14

15

Sub
Marks

—

(a) P
Use [ =15
15/13 P, %100
N2
x=5:48, y=96 , z=4.80
(Correct all N2, 1 mistake N 1)
®) | m=16 11)(11
137%374+115%33+ 96x16+150x14
100 N1
125 ‘
c) | 0.50 S
( ) X100=125 OR 117/15:@-X100
13 125 N1
B, =040 OR 117/,5 =128
‘ K1
i><100=160 OR Fi_100=128
0.40 0.50
RM 0.64 N

Scanned by CamScanner



4 Correct axes, uniform scgle and EESREEN ENEEEEENNN NENENFEEEN SN SN SN SN

0.9 = °"°Point correctly plotteq AT + T
IE All points correctly plotted ki B S T i

—+—— Line of best fit - HE T

e NAEEE

|
]
L

0.8 F— N1 [ T

fﬂ"lf_’

|
- _T e
T

1 (9 loglo)’:]og,op—xlogwq P1 +f EaEs THHA

0.7 © Use log,op = y—intercept K1 e i X EESNE

p =1.122+0.1 N1

|
|
|
N

0.6 (i1) Use log,,g = gradient K1 / - f 1t

g =1283+£0.1 NI - EEREEm

*T‘l (i) y = 2.754£0.1 N1 ! N

|
!
[
I
l
N
A
1
|
!
[
|
|
|
\

[
i
N

—
!

0.2
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T 1
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T 111
I

- 1 N 41—t
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QUESTION 1-?\

n_‘O‘

Draw one straighm I xty<80 -

Y | Draw all straight lines correctly K]

ik Sh . 1 iZl ory < 3x N1
aded region N1 _:1 , y 3 -

A;LL :1%: H‘F:;! ;ij:jj ._:J ] e roox + 1209 = 5000 NI
::_:?31::%:—71— :EEEEEEE;:;EE :Eééﬁ ;E:‘ ¢) 1) Minimum number male students =36 NI :
T ‘r —ji:} RN :j:E_~~——~—— NN i) Maximum collection fL
‘ —Fi“' EEARE R AR NN R ma
- T e a SEEEs (20,60) NI PL
_H_ﬂ i nm =RM100 (20) + RM120 (60) Kl ‘
e Ras ==
SeauEREEca = RMD9 200 pas
l‘ - ) lei
4 H o Maximum proﬁt=£ x RM9 200 ?[S'
SN ERREY 100 5
+ / ama
70 { - [ | ~RM2300 NI L“
oo} @ —
i ﬁ%& T
l X T /{«///////%;’xw - T
50} %g%;/ « SEEE Kanme maRnesanut
7 | T
- %%%fé/ . i{_ FET::T
T o A R
B
N ) R

HX N N nam E==atasu] BENSE ansan EnanE=EE
- X ///f////// ' ﬁ///;// j 0 l-is—f B "r‘{iﬂn‘ H HF
% St A T
. @%//%/ ) %/ ol T T
T — - "::S % % ,'f//{// N - . Lﬁ ‘_]‘? I T ; # H ll ] ‘ ¢[ m
iR En / _ ?,// W/‘[‘:Hw,} }V[E;LH?{MHT:}
20 [ ‘:‘::ﬁ...i"fi.. % QAR EESSREE AR R A H
? EEEEE ?/é%%, %yz////ﬁf/ 7 . ‘L:l \{ EEa jl,r 1 T‘i*ﬂ?{
A B / 7% - HESSRSREuEE RasENREEcs
'I' AEmEmE B e é%%%ﬁ%P 2//),///,; ﬁzf T H{L e ;l, Bum ﬁ‘{;{:
10 4 mE EEEu R mN _ / % N !

R e
1 N z ! P L'— . H: i
FerErEE e ~ B
i 2B 4 "5D:S;f—5§§itij;i NS
= ]1 Hl 11 - + ‘Sﬁc_:: i N
EEAdsEReyassaRtss . RN N
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